
 

 

 

 (أ  6ش، 7)                                              

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 (أ   7 ش ،9)  ت    (أ   4ش ، 4) و   (أ   3ش ، 8)  ع  (أ   7ش ، 3) م     / 3
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 الحرف هو ن 

 بكةشلتسمى هذه العقدة أصل ا

 س

 ص

 ق

 ك

 أضلاعه متساويةس ص ك ق هو مربع لأن 

 (خطوات  3)                             

 قائمة  زوايا 4وله                                
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 يمين 1
 شمال

 أمام

 وراء

 ب ك

 د ج

 ( و 2،  ش 3)  ج   ( و 2ي ، 2)  د    (أ  1،  ش 3)  ب(     أ  1ي ، 2) ك 
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